
Calendar Answers

1. 500

2. 12 
149 and 8953. 

56, 18, 844. 

5. True

6. Base x Height

7. Draw a 3D shape. A 3D shape is 
in 3 dimensions: length, width 
and height 

8 . True

9 . 206 remainder 3 or 206.5 

10 . 1/8

11 . 9.81

18. 56 and 108

19 . 8/15

20 . 163

21 . 7/12
22 . 377, 566 

23. 9,328

24. Draw a circle, the diameter is the 
length from one side to the other 
passing through the centre 

25. 5

26 . £3.94

13 . 6,642
14 . 482,000

12. 387 pence 

29. 62 remainder 4

28. 2.1

27. A triangle with 3 equal lengths 

15 . 20:20

16. Protractor

17. 60 months in 5 years and 96 months in 8 years


